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AF7} 5024cm) Wol &k o] 9] 5] PolS T5hAL.

> E cm
[> HEFD 16cm

50.24 + 3.14 = 16( cm)




E7} 125.6 cm<l Yo 2|29 Aol & cmU7}?
CR cm

>
> HED 40cm

125.6 + 3.14 = 40( cm)




9] AF-g FohA 2.

L

>
[> ®EH: 50.24cm

(45)=(A&)x3.14
16 x 3.14 = 50.24( cm)




>
> HE D 34.54cm

11 x 3.14 = 34.54( cm)
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10. W89} 2ol 7em 2 9o Wols B em? AU

v
]
@]

Bl\3

> HEHD 153.86 cm?

(29 Hol)=7x 7 x 3.14 = 153.86( cm?)




% m? U7

1.5 X 1.5 x 3.14 = 7.065(m?)




12. 9] Hol& 5 2.

B 201g0] : 8+ 2 — 4(cm)
o] \o] @ 4x4x3.14 = 50.24( cm?)




13. t= 99 HolE F5HA L.

\VARR 4
0
m

379.94 cm?

11 x 11 x 3.14 = 379.94( cm?)




® (¥9F) = (FHA5) x2x3.14
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17. AF7F 7536 em] REAIE2 2 cnPH 712

» E cm

[> HEF 12cm

HEzEo] Zo] & 75.36 + 3.14 + 2 = 12( cm)




18. ¥F7F40.82em?Ql o] Jl5Uth o] 9o AE2 2 em YUY 7?

» E cm

[> HEF: 13cm

40.82 = 3.14 = 13(cm)




19. 9715024 cm@l Yol vtz &2 2 cmdY7t?

» E cm

> HE:. 8cm

(AE) =50.24 + 3.14 = 16( cm)




20. ¥AEo] 11emd U] AFE E emYPU7}?

-F cm

> M. 69.08cm

(4%)

X 2x3.14




it

o Ee9] 2o

A 2.

q_

20.56 cm

ul

1
—zl‘)xi

1
(8x3.14) x 5 +38

12.56 + 8

20.56( cm)




22.

Z]5°] 80cm?l ST LIt 202 g

ozt A @ mdy7t?
> g

> HED 20.096m

=

0.8 % 3.14 x 8 = 20.096( m)




1m Q1 B 22471 gy o] 23J2E 5 vt

23. A&l
=22 o, 2H 47 24 AYE=E 2 m U7
D 1m @ 5m @ 7.85m
@15.7m ® 314m

2P E 5 2Reng, 294 59 Zolo 5 w7t Hyrt
w2hA 1x3.14 x5 = 15.7(m) Ytk




24. 192 AFol 28cm?] AU A

>
> HEH 153.86.cm?

AT 2] Hol=(8l Hol)x

1
14x 14 x 314 % | = 153.86(cm?)




113.04 cm?
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i = 113.04(cm?)

12 x 12 x 3.14 X




